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ROZNZNOTAEBBICEL. 2L, YSEIRTEETS. log,3 = a ETBEE, RDFNENDIESE o ZRLNTEY.
a) 43 8% -~ 16-% = a) logs9 b) log;4 ¢) logg2

b) (a3 —1)(@3 +a3 +1) =

IRDEFNZNOINABRICE L.

C) (ax + a—x)z _ (ax _ a—x)z —

a) 210g23 —
Va3 a2
d) ”—«/ﬁz b) %log53+3log5«/§—log5\/2—:
0 (ab™3) + (a4b™i)
(@=2b3) + (aib~3) c) (log, 3 +log, 9)(logs 4 + logy 2) =
RDEDKINELS HREL. 0.54, 0573, 272, d) log, 8-logy;5-logs3 =

(6] moBRINART.

a) loggs(x + D(x +2) = —1

RDARENZHIZT x DEBEZKHK.
a) 0.3% > 0.09 b) (%)H > (V2)"

b) logsz(x —2) +logs(2x —7) =2
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NBERRIRRT, NOAOHDEBE 1 ETORO>TUKDT, CHOEETIE 10 FROEHEFEZEDFICE
D] INEELLD

HUTFORETIE, METHIUE loge2 = 0.3010, logo3 = 0.4771 ZRL\EL.

a) 2% [HIHDHD
b) 2% DREMUDYFTZRDE.
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[10] mZ@o 1 B880% lom ELTES y =2 IS AN ESE, x DBEAEILEZEF 0 x <10
ETBE yDEEE 1<y <210 88D, ISTOBKE y 8HBICDNT 1024cm DESHMEBEEZ S
Nd. xDZEHE 0 x <60 &EULICEE, IS TRKEERRNICEPLZEDS SVDESHMED. R
DISELSREENVEDERY, BHAEDFTEZL
a) lkm b) 100km

d) HIKDSOKRBERTOEE (1.5 x 10''m)

c) HIXKHOBEXTDwHE (K938 15 km)
e) 1HE ($99.5x10%m)

1] 208H 0B SF 1%, 2%, -, BE, ZRTERIT. 2OEREBPDISOBRIE, RDL
SICNHERVNTRITENTED. mB2DPDS% L, n E2OPDS L, ETBE,

0.4(n —m) = log g Lm —logo Ln
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